A (PA Cross Section)

Sham-2w Sham-5w

LPAL-2w

C (internal PA Ring)

201 @ Sham-2w 201 @ Sham-5w x
5 -@- LPAL-2w * -@- LPAL-5w
5 15 15
5E ;
= E1o0 . 1.0
SE
=
@ ~05 0.5
(]
>
00 T T T T T T T 00 T T T T T T
0 2 4 6 8 10 12 0 2 4 6 8 10 12
Increase in Circumference (x100, mm)
250 1
5 <
® 5 240 ®
g2 o
3 &< [J Endothelium 3
£ 5 2307 . £
Z383 -intact 3
Sz 9204 . 3
o £= 4 Endothelium 8
> = g 10 -denuded >
X g 5 X
£ o+
M Sham-2w mELPAL-2w
F 0OTe——————- Org——————-
-@ Sham-2w -@- Sham-5w
- $207 @ LPAL-2w 20 -@- LPAL-5w
o<
%’ 5 40 1 40
£g 60 60
5%
<
@ 80 - 80
100 -—>+—+—+——"100 t+—7"—" —"r—o
9 8 -7 6 5 -4 9 8 7 6 -5 -4
[ACh] Log M [ACh] Log M

B (Distal PA Tissue)

Figure 2
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